B O » O

BEYOND MmATHS

Calculating the Range Colour by Number: Bronze

Instructions
Calculate the range of each data set, then use the key to shade the corresponding section in the correct colour.
For example, if the range was calculated as 5, the corresponding section would be coloured orange.
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BEYOND MmATHS

Calculating the Range Colour by Number: Bronze Answers

Instructions
Calculate the range of each data set, then use the key to shade the corresponding section in the correct colour.
For example, if the range was calculated as 5, the corresponding section would be coloured orange.
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